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Solve the following trig equations for values of 6 such that 0°< 6<360°.

Quadcod
Cjér}l csc 8 =v/2 ©: l3§

17 2.sec8=2 9,"300
W 3.cot0=vV3 © = 330 .
RNy 1™

L 4sine=3 . .
5,3 106.60° 582 3 26310

S 5.cosez'..§_
5"
7L 6.tanB8=1 e = 12_
X 7.csco-2 O 236 - as’
IL 8. sec § = = vb-'—_ |S(..‘-N
1L 9.cot®8=-3 9 = "g( 57 233 '3
3 'e'-;'

10.cot9=i~ {9‘ = 5.

1[[ 11.5sin8+3=sinB+2 e

m'-l 4K’ 19"
12.7sin8-11=4sin8-13 O = 221 g1’ )'G" 3

13. 7 - 11cos 6 = 8 -8cos O .e\, |09 M1 ezﬁlso'33

\

1§ ve qu adrart

Ye Hran
S‘Ft nd )0\“ vollLs

of, .



